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Now using the Distributive Property, how would finding the area differ?

oft R How would I write this problem using the
| Distributive Property?
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A swimming pool has a shallow end .
and a deep end. Find the surface What is the Surface Area of the
Pool? a
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Write an expression, using the
distributive property, to represent
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Examples:

3X

4x

Expression:

_j__<_%_+_3_)

Simplify using the Distributive Property:
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Expression:

5 X . U

Simplify using the Distributive Property:
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Expression:

SN 2.

Simplify using the Distﬁ’butive Property:
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Fmd the GCF to create an equivalent expression.

Steps:
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S._..... L { 15 1) Find the _G_CE—_ This is your width.
g (They ay have a variable in common too)
' D&__ both terms by the GCF. This is
your length.
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14 Expression: 3__ ( _S_Q_ +‘a__)
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' ! Expression: ( X + )

Expression: @_Q_ ( ﬁ_Q_ +_3_)




